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MAT257 Analysis Il on October 19, 2020: The Inverse/Implicit Function Theorems.
Read Along: Spivak 34-45. oy / | = | .l,
-~ Riddle Along: On any pair of potatos, can you draw a pair of 3D congruent curves? X {‘ = p { l—j ) |
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MAT257 Analysis Il on October 21, 2020: The Implicit Function Theorem,

Integration.

- X1

Read Along: Spivak 40-45. Read Ahead: Spivak 46-52, "Integration”.

Do G

~ HWS5 due at midnight, HW®6 is on web

Riddle Along: Can you find uncountably many sets of natural numbers, such that the
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—intersection of any two of them is finite?
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MAT257 Analysis Il on October 23, 2020: The Implicit Function Theorem (a bit), and integration (boot up).

Read Along: Spivak 40-52.
~TT1 discussion on Wednesday October 29. Until then, just keep on top of things!
Riddle Along: Can you find uncountably many sets of natural numbers, such that for any two of them, one

——contains the other?
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